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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

-

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns.
There are 20 boxes total.

Answers

1) 3rows
5 columns

4) 3rows
2 columns

7) 4rows
2 columns

2) 3rows
3 columns

5 4rows
3 columns

8) 3rows
4 columns

3) 2rows
5 columns

6) 4rows
4 columns

9 S5rows
5 columns
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ﬂh Partitioning Rectangles Name: Answer Key

Partition the shape as described and then count to find the number of boxes. Answers
/ Thishas4 rowsand 5 \
Rows go left to right. Columns go up and down. columns. 1 15
There are 20 boxes total.
2. 9
“““ 3. 10
1) 3rows 2) 3rows 3) 2rows ] 12
5 columns 3 columns 5 columns '
6. 16
A b S
8. 12
9 25
4) 3rows 5 4rows 6) 4rows
2 columns 3 columns 4 columns
7) 4rows 8) 3rows 9 S5rows
2 columns 4 columns 5 columns
................
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns. 1
There are 20 boxes total.

1) 3rows
3 columns

4) 4rows
3 columns

7) 3rows
5 columns

2) 3rows
2 columns

5 4rows
2 columns

8) 2rows
5 columns

2.
3.
N
3) 2rows
5.
2 columns
6.
7.
8.
9,
6) 4rows
4 columns
9 2rows
4 columns
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Partitioning Rectangles Name: Answer Key

Partition the shape as described and then count to find the number of boxes. Answers
/ Thishas4 rowsand 5 \
Rows go left to right. Columns go up and down. columns. 1 °]
There are 20 boxes total.
2. 6
“““ 3 4
1) 3rows 2) 3rows 3) 2rows 3
5.
3 columns 2 columns 2 columns
6 16
f N (o ; 15
8 10
9 8
4) 4rows 5 4rows 6) 4rows
3 columns 2 columns 4 columns
7) 3rows 8) 2rows 9 2rows
5 columns 5 columns 4 columns
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns. 1
There are 20 boxes total.

1) 3rows
2 columns

4) 5rows
4 columns

7) 3rows
4 columns

2) 4rows
2 columns

5 5rows
2 columns

8) 5rows
5 columns

2.
3.
N
3) 2rows
5.
3 columns
6.
7.
8.
9,
6) 2rows
2 columns
9 4rows
3 columns
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Partitioning Rectangles Name: Answer Key

Partition the shape as described and then count to find the number of boxes. Answers
/ Thishas4rowsand 5 \
Rows go left to right. Columns go up and down. columns. 1 6
There are 20 boxes total.
8
“““ 6
L J 20
1) 3rows 2) 4rows 3) 2rows 10
2 columns 2 columns 3 columns
4
: SSSN SOOS S 12
---------------------------------- 25
12
4) 5rows 5 5rows 6) 2rows
4 columns 2 columns 2 columns
7) 3rows 8) 5rows 9 4rows
4 columns 5 columns 3 columns
N L
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

-

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns.
There are 20 boxes total.

Answers

1) 3rows
3 columns

4) 4rows
4 columns

7) 4rows
3 columns

2) 2rows
3 columns

5 2rows
5 columns

8) 5rows
4 columns

3) 4rows
2 columns

6) 2rows
4 columns

9 S5rows
3 columns
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Partitioning Rectangles Name: Answer Key

Partition the shape as described and then count to find the number of boxes. Answers
/ Thishas4 rowsand 5 \
Rows go left to right. Columns go up and down. columns. 1 o]
There are 20 boxes total.
2. 6
“““ 3. 8
1) 3rows 2) 2rows 3) 4rows ] 10
3 columns 3 columns 2 columns '
6 8
: SN R . 12
.................é ................. 8 20
9 15
4) 4rows 5 2rows 6) 2rows
4 columns 5 columns 4 columns
7) 4rows 8) 5rows 9 S5rows
3 columns 4 columns 3 columns
.......... .g-"""""'"""""- EEEEEEEmEEsEEEEEgEEsEEEsEgEEEE EEEEEEEEEEREEEEsEEEsEEgEEEEEEE
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns. 1
There are 20 boxes total.

1) 5rows
2 columns

4) 3rows
4 columns

7) 3rows
2 columns

2) 3rows
3 columns

5 2rows
2 columns

8) 5rows
3 columns

2.
3.
N
3) 2rows
5.
3 columns
6.
7.
8.
9,
6) 5rows
4 columns
9 2rows
5 columns
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Partitioning Rectangles

Name:

Answer Key

Partition the shape as described and then count to find the number of boxes.

-

Thishas4 rowsand 5 \

Answers

10

9

6

Rows go left to right. Columns go up and down. columns.
There are 20 boxes total.

L
1) 5rows 2) 3rows 3) 2rows

2 columns 3 columns 3 columns
4) 3rows 5 2rows 6) 5rows

4 columns 2 columns 4 columns
7) 3rows 8) 5rows 9 2rows

2 columns 3 columns 5 columns

..................................

..................................

..................................

12

20

15

10
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns.
There are 20 boxes total.

Answers

1) 2rows
4 columns

4) 3rows
5 columns

7) 5rows
3 columns

2) 5rows
2 columns

5 2rows
3 columns

8) 3rows
2 columns

3) 3rows
4 columns

6) 4rows
3 columns

9 3rows
3 columns
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Partitioning Rectangles

Name:

Answer Key

Partition the shape as described and then count to find the number of boxes.

-

Thishas4 rowsand 5 \

Answers

8

10

12

Rows go left to right. Columns go up and down. columns.
There are 20 boxes total.

L Y,
1) 2rows 2) 5rows 3) 3rows

4 columns 2 columns 4 columns
4) 3rows 5 2rows 6) 4rows

5 columns 3 columns 3 columns
7) 5rows 8) 3rows 9 3rows

3 columns 2 columns 3 columns

..................................

..................................

15

6

12

15
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns.
There are 20 boxes total.

Answers

1) 4rows
2 columns

4) 5rows
4 columns

7) 5rows
2 columns

2) 2rows
2 columns

5 3rows
2 columns

8) 4rows
4 columns

3) 5rows
3 columns

6) 4rows
3 columns

9 3rows
3 columns
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Partitioning Rectangles Name:

Answer Key

Partition the shape as described and then count to find the number of boxes.

-

Thishas4 rowsand 5

N

Answers

8

4

15

Rows go left to right. Columns go up and down. columns.
There are 20 boxes total.
L
1) 4rows 2) 2rows 3) 5rows
2 columns 2 columns 3 columns
4) 5rows 5 3rows 6) 4rows
4 columns 2 columns 3 columns
7) 5rows 8) 4rows 9 3rows
2 columns 4 columns 3 columns
TP TRTI: STRCTRTROTROR I [ i t -------- .

..................................

20

12

10

16
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns. 1
There are 20 boxes total.

1) 5rows
4 columns

4) 4rows
3 columns

7) 5rows
2 columns

2) 4rows
4 columns

5 5rows
5 columns

8) 2rows
5 columns

2.
3.
N
3) 2rows
5.
3 columns
6.
7.
8.
9,
6) 3rows
5 columns
9 3rows
3 columns
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Partitioning Rectangles

Name:

Answer Key

Partition the shape as described and then count to find the number of boxes.

-

Thishas4 rowsand 5 \

Answers

20

16

6

Rows go left to right. Columns go up and down. columns.
There are 20 boxes total.
L
1) 5rows 2) 4rows 3) 2rows
4 columns 4 columns 3 columns
........:........;........ ................ Sessnnnnsn 2 -------- Benunnnnyl
4) 4rows 5 5rows 6) 3rows
3 columns 5 columns 5 columns
7) 5rows 8) 2rows 9 3rows
2 columns 5 columns 3 columns

..................................

12

25

15

10

10

[ M ath ] www.CommonCoreSheets.com

1-9 |89]|78]67[56]44[33[22[11] 0 |




JL_

Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Rows go left to right.

L

Columns go up and down.

Thishas4 rowsand 5 \
columns. 1
There are 20 boxes total.

1) 3rows
3 columns

4) 5rows
4 columns

7) 2rows
4 columns

2) 2rows
3 columns

5 2rows
5 columns

8) 4rows
4 columns

2.
3.
N
3) 4rows
5.
3 columns
6.
7.
8.
9,
6) 3rows
2 columns
9 S5rows
3 columns
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Partition the shape as described and then count to find the number of boxes.

Partitioning Rectangles

Answer Key

-

Thishas4 rowsand 5 \

Answers

9

6

12

Rows go left to right. Columns go up and down. columns.
There are 20 boxes total.

L
1) 3rows 2) 2rows 3) 4rows

3 columns 3 columns 3 columns
4) 5rows 5 2rows 6) 3rows

4 columns 5 columns 2 columns
7) 2rows 8) 4rows 9 S5rows

4 columns 4 columns 3 columns

....... .-........%........]........ AR L L AL,

.................................

..................................

..................................

..................................

..................................

20

10

16

15
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Partitioning Rectangles

Name:

Partition the shape as described and then count to find the number of boxes.

Answers

7

Thishas4 rowsand 5 \
Rows go left to right. Columns go up and down. columns. 1
There are 20 boxes total.

2.
3.
L | a
1) 2rows 2) 3rows 3) 5rows
5.
5 columns 5 columns 5 columns
6.
7.
8.
9,
4) 4rows 5 5rows 6) 2rows
3 columns 3 columns 3 columns
7) 5rows 8) 2rows 9 4rows
4 columns 2 columns 4 columns
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Partitioning Rectangles Name:

Answer Key

Partition the shape as described and then count to find the number of boxes. Answers
/ Thishas4rowsand 5 \
Rows go left to right. Columns go up and down. columns. 10
There are 20 boxes total.
15
“““ 25
L BN J 12
1) 2rows 2) 3rows 3) 5rows 15
5 columns 5 columns 5 columns
AR EA RN EEEEREEEEEEEEEEEEEEE R 6
[ S 20
R RN R EEEEE N EEEEEEEEEEEEEEEEEE R 4
16
4) 4rows 5 5rows 6) 2rows
3 columns 3 columns 3 columns
7) 5rows 8) 2rows 9 4rows
4 columns 2 columns 4 columns
B L hhi bty [ - N - Sasnsnnns % ........ | CEEEEEEY
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